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The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
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If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Question Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and in Kannada. Doubts regarding
the meaning and translation of Question Serial No. 1 to 70 will be settled based on the
Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which of the following statement is/are correct about Portuguese ?
l. Albuquerque captured Goa early in 1510.

[l. By the inspiration of King Emmanuel of Portugal, Vasco da Gama tries to discover
an ocean route to India.

[ll. Under the Portuguese, Cochin rapidly grew into a large and flourishing town,
and during their palmy days, it was, after Goa, the finest and the largest city on
the Malabar Coast.

A) I, Il and I B) Only land Il
C) Only Il and Il D) Only I and llI

2. Which of the following statement is correct about Marthandavarma ?
|. Marthandavarma defeat Dutch in the Battle of Colachal in 1741.
Il. Travancore and Cochin make friendly relation by the treaty of Mavelikara in 1757.
[ll. The title Mandapathu Vattukal is given to Army Headquarters.
A) Only land Il B) I, lland Il
C) Only I and Il D) Only Il and Il

3. Which of the following facts are correct about Vaikkam Sathyagraham ?
I. E.V. Ramaswami Naykkar arrested in connection with Vaikkam Sathyagraha.
Il. The Vaikkam Sathyagraha continued at the time of flood, 1924.
[ll. The Legislative Assembly voted 1925 Feb.-7, supported 22 persons and rejected

21 people.
A) Only I and llI B) Only land |l
C) Only Il and 11l D) I, Il and llI

4. Facts relating to Civil Disobedience Movement.
|. Gandhi declared non-violent struggle for Purna Swaraj.

[I. Gandhi’s Dandi March (12 March — 06 April) from Sabarmathi to Sea through
the heartland of Gujarat.

lll. “You planned a fine strategy round the issue of salt” Nehru would admit to
Gandhiji in February 1931.

A) Only I and Il B) Only Il and llI
C) Only land Il D) I, Iland Il
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5. Consider facts relating to Social Institutions and Reforms.

|. December 4, 1829 declaring the practice of Sati or burning or burying alive the

widows of Hindu illegal and punishable by criminal courts.

[l. The raising of the age of marriage among the educated classes affective largely
due to education, economic pressures and the break-up of the joint family
system.

[ll. The British Government followed the policy of non-intervention in regard to caste
and family and changes that have marked these institutions are attributed for the
most part not to any Governmental action but factors of a sociological nature.

A) I, lland Il B) Only Il and Il
C) Only I and Il D) Only land I

6. Consider the following statement relating to Mughal art and architecture.

I. Akbar constructed Fatehpur Sikri the dream model of Qublaikhans palace in
Xanadu.

[I. Jahangir started Indo-Islamic baroque style.

[ll. The Moti Musjid at Agra was constructed by Aurangzeb.
A) I, 1l and I B) Only I and II
C) Only I and Il D) Only Il and llI

7. Facts relating to cause of French Revolutions.

I. In France there were certain in direct taxes which were collected not by state
officials, but by private individuals or companies.

[l. The clergy the Rome Catholic Church formed the first order in the State. It was

rich and powerful. It owned probably a fifth of the land of France.

[ll. The revolution was not caused by the Philosophers but by the condition and
evils of the National life and by the mistakes of government.

A) Only I and Il B) Only Il and IlI
C) I, lland I D) Only land I
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8. Facts relating to UNO

I. The UN established close resemblance to the League of nations its initial
members 50 represented at San Francisco.

Il. The charter pledged the members to maintain International peace and security
and to cooperative in establishing political, economic and social condition
favourable to those objectives it forbade intervention in the internal affairs of
any nation.

[ll. At the Teheran Conference in December Roosevelt, Churchill and Stalin called
for “a world family of democratic nation”.

A) Only I and Il B) Only Il and Il
C) Only land il D) I, lland Il

9. Consider the following facts relating to plastic pollution.

I. More than 400 million tonnes of plastics is produced every year worldwide half of
which is designated to be used only once of that, less than 10 percent is recycled.

[I. Micro plastics-tiny plastic particles up to 5 mm in diameter — find their way into
drinking water.

[ll. Some 11 M tonnes of plastics waste flow annually into oceans this may triple

by 2040.
A) Only I and Il B) Only I and Il
C) Only Il and IlI D) I, Iland il

10. Consider the facts relating to Central Information Commission.
|. Sri Heeralal Samariya, Chief Information Commissioner.

Il. The Central Information Commission has been constituted with effect from

12" October 2005.

[ll. The jurisdiction of the commission extends over all Central and State Public
Authorities.

A) Only land Il B) Only land Il

C) I, lland Il D) Only Il and Il
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11. Match List — | with List — Il and select the correct answer using the codes given

below :
List -1 List -1l
(Layers of Atmosphere) (Characteristics)
a. Stratosphere 1. Temperature decreases with increasing height
b. Exosphere 2. Aurora Borealis and Aurora Australis are produced
c. Troposphere 3. Contains much of the total atmospheric ozone
d. lonosphere 4. Atoms of oxygen, hydrogen and helium
Codes :
a b ¢ d
A) 4 3 2 1
B 3 4 1 2
c) 3 4 2 1
D) 4 3 1 2

12. The National Waterway 3 (NW3) of India stretch between

A) Sadia — Dhubri B) Kakinada — Puducherry
C) Kottapuram — Kollam D) Allahabad — Haldia
13. Match List — | with List — Il and select the correct answer using the codes given

below :

List -1 List -1l

(Satellites) (Country)

a. GOES 1. France
b. INSAT 2. USA
c. SPOT 3. Russia
d. Meteor -3 4. India
Codes :

a b ¢ d
A) 4 3 1
B 3 2 1 4
c) 3 4 1 2
D) 2 4 1 3
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14. Consider the following statements and select the correct answer using the codes
given below :
1. The Bhabar tract is a pebble studded zone.
2. The Bhangar represent the newer alluvium.
3. The Khaddar represent the older alluvium.

4. The Terai is a zone of excessive dampness.

Codes :
A) 1, 2 and 3 are correct B) 2 and 4 are correct
C) 1 and 4 are correct D) 1, 2, 3 and 4 are correct

15. Which among the following National Park is home to the largest population of
Lion tailed Macaques ?

A) Anamudi Shola B) Mathikettan Shola
C) Silent Valley D) Eravikulam

16. Which one of the following was the main theme of India’s twelfth Five Year Plan
(2012 -17) ?

A) Garibi Hatao
B) Faster, More Inclusive and Sustainable Growth
C) Growth with Social Justice and Equality

D) Poverty Alleviation and Industrial Development

17. Which of the following statement is/are correct about Reserve Bank of India ?
i. RBIl is a member of IMF.
ii. The Reserve Bank of India was established on April 1, 1935.
iii. Usha Thorat was the first women RBI Governor.
A) Only iandii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)

18. Which of the following taxes will be levied on imports under GST ?
A) CGST B) IGST
C) SGST D) All of the Above

A -10-
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19. Effective Revenue Deficit (ERD) equal to
A) Revenue Deficit minus Grant-in-Aid for Creation of Capital Assets
B) Capital Expenditure plus Grants-in-Aid for Creation of Capital Assets
C) Primary deficit plus interest payments

D) Revenue deficit minus interest payments

20. The report titled “The Indian Economy — A Review”, is an alternative of Economic
Survey 2024, is authored by

A) Krishnamurthy Subramanian B) Mr. Satyendra Kishore
C) V. Anantha Nageswaran D) Shri. S. Ramakrishnan

21. “The public agreements between citizens and service delivery providers that clearly
codify expectations and standards in the realm of service delivery”; identify the public

agreement.
A) Manifesto B) Citizen Charter
C) Constitution D) PIL

22. NSSO stands for
A) National Sample Survey Organisation
B) National Sample Selection Organisation
C) National Sample Survey Office
D) National Sample Securing Office

23. The Attapady Soil Conservation Project in Kerala is getting assistance from
A) The Japan International Cooperation Agency
B) The Danish International Development Agency
C) The Swiss Agency for Development and Cooperation

D) The German Agency for Technical Cooperation

24. NREGAsoft is related to
A) TISS B) NREGA
C) Keltron D) LBS

A -12-
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25. Which is treated as the birthplace of Human Relations Theory in Administration ?
A) Toyota Motor Corporation
B) Bell Labs
C) NASA
D) The Hawthrone Plant of the Western Electrical Company

26. Which Constitutional amendment restored authority of states to recognise the Socially
and Educationally Backward Classes (SEBCs) ?

A) 106 B) 101 C) 105 D) 100

27. Official calligrapher of Indian Constitution
A) Prem Behari Narain Raizada B) Ram Parshad
C) N.V. Gadgil D) Nand Lal Bose

28. Article 248 of Indian Constitution deals with
A) Scope of executive power of the Union Government

B) Power of the Union Government to make any law with respect to any matter
included in the concurrent or state list

C) Special Powers of Prime Minister’'s Office

D) Power of the Union Government to make any law with respect to any matter not
enumerated in either concurrent or state list

29. Which State in India offered 50% reservation for women in local bodies for the first

time ?
A) Bihar B) Kerala
C) Karnataka D) Himachal Pradesh

30. S. R.Bommai V. Union of India case is related to
A) Article 356 B) Article 360
C) Article 362 D) Article 352

31. An Authentic book scientifically written by Koodiyattam
A) Hasta lakshana deepika B) Natyasastra

C) Natyakalpa drumam D) Thapathi samvaranam

A -14-
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32.

33.

34.

35.

36.

37.

38.

39.

Two Kerala visual arts have been included in the UNESCO heritage list.
A) Kathakali and Ottamthullal B) Theyyam and Koodiyattam

C) Koodiyattam and Padayani D) Koodiyattam and Mudiyettu

The team from which country always marches first at the opening ceremony of the

olympics ?
A) Greece B) France
C) Switzerland D) Host Country

Davis Cup is for
A) Cricket B) Tennis
C) Badminton D) Basketball

‘Nandanar’ is the Pen name of
A) P. C. Kuttikrishnan B) C. Govinda Pisharady
C) P. C. Gopalan D) R. Ramachandran Nair

Which is the first colour movie in Malayalam ?
A) Chemmeen B) Kandambacha coat
C) Balan D) Neelakuil

A ‘Sangam’ period work with reference to ‘Onam’.
A) Akananooru B) Chilappatikaram
C) Madurai Kanchi D) Periyapuranam

Who is the writer associated with the ‘Malayali Memorial’ ?

A) E. V. Krishna Pillai B) Kumaranasan

C) Bodeswaran D) C. V. Raman Pillai

The rescue operation launched by India to bring back the National Standard in Israel
during the Hamas-Israel conflict.

A) Operation Ajay B) Operation Vijay

C) Operation Bluestar D) Operation Hamas
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40. The new Vice Chancellor of Kerala Kalamandalam
A) Mrinalini Sarabhai B) Dr. Mohan Kunnummel
C) Dr. B. Anantha Krishnan D) Dr. S. Bijoy Nandan

41. Which memory is used to hold the ‘Boot up’ program in Computer ?
A) Read Only Memory (ROM) B) Random Access Memory (RAM)
C) Cache Memory D) Secondary Memory

42. Name the system software that converts a high level language program into Machine
language line by line.

A) Assembler B) Compiler
C) Interpreter D) Operating system

43. Which is the four digit Helpline number for reporting a cyber crime in the National
Cyber Crime Reporting portal ?

A) 1940 B) 1930 C) 1098 D) 1947

44. What does ICANN stand for ?
A) International Corporation for Assigned Names and Numbers
B) Internet Corporation for Alternative Names and Numbers
C) Intellectual Corporation for Alternative Names and Numbers

D) Internet Corporation for Assigned Names and Numbers

45. One of the popular online chat platform ‘Omegle’ has shut down its operations on
Nov. 8, 2023. Who is the founder of ‘Omegle’ ?

A) Sam Altman B) David R. Woolley
C) Doug Brown D) Leif K. Brooks

46. Among the following Indian scientists, who have been awarded the Bharat Ratna ?
i. Vikram Sarabhai
ii. A.P.J.Abdul Kalam

iii. Homi Bhabha
A) Only i B) Only i and iii
C) All of the above (i, ii and iii) D) Only i
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47. The major science objectives of Aditya-L1 mission are
i. Study of Solar upper atmospheric (chromosphere and corona) dynamics.
ii. To demonstrate Safe and Soft Landing on Solar Surface.
iii. To demonstrate Rover roving on the sun.
A) Only iii B) Only i and iii
C) Onlyii D) All of the above (i, ii and iii)

48. Which of the following statement is/are correct about National Green Hydrogen Mission ?

i. To make India the Global Hub for production, usage and export of Green
Hydrogen and its derivatives.

ii. The Mission will lead to significant carbonisation of the economy, increased
dependence on hydro power projects.

iii. This will contribute to India’s aim to become Aatmanirbhar through clean energy
and serve as an inspiration for the Global Clean Energy Transition.

A) Only i B) Only i and iii
C) Only ii and iii D) All of the above (i, ii and iii)

49. Which of the following statements is/are correct ?
i. The Environment (Protection) Act was enacted in 1986.

ii. The Forest Conservation Act, 1980 was enacted to help conserve the country’s
forests.

iii. National Green Tribunal has been established on 18-10-2020 under the National
Green Tribunal Act, 2020.

A) Onlyiandii B) All of the above (i, ii and iii)
C) Only ii and iii D) Only i

50. Which of the following statements is/are correct ?
i. Scientists discovered a recently formed ocean inside Saturn’s moon Mimas.
ii. 3D printer creates brain tissue that acts like the real thing.

iii. The UN Climate Change Conference in Dubai, United Arab Emirates, closed on
03 December 2023.

A) Only i B) Only ii and iii
C) Onlyiandii D) All of the above (i, ii and iii)
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

Arun travelled 25 km 50 m by bus, 7 km 265 m by car and the rest 1 km 30 m he
walked. How much distance in kilometres did he travel in all ?

A) 33.345 B) 34.065 C) 34.345 D) 33.065

A student has to secure 40% marks in an examination to pass. He got 320 marks
and failed by 80 marks. The maximum marks are

A) 800 B) 1000 C) 1500 D) 1280

An article was sold at 10% gain. Had it been sold for 250 more, the gain would have
been 20%. Then the cost price of the article is

A) 2,500 B) 2,000 C) 1,350 D) 1,500

An amount deposited for 2 years at simple interest rate 10.5% will yield same interest
in 2 years if deposited for compound interest for 2 years (compounded annually) if
the rate of compound interest is

A) 9.75 B) 10 C) 10.25 D) 10.5

th
Sita reads 1 part of a book in one hour. How much part of the book will be read in

1

2_hours ?
5
10 15 11 11
A) 20 B) 20 C) 10 D) 20

6 men and 7 women can finish a job in 12 days while 2 men and 5 women can finish
it in 20 days. In how many days can 10 men finish it ?

A) 20 B) 22 C) 24 D) 26

P, Q, R and S start from the same point to walk around in a circular path, in the
same direction, around a garden whose circumference is one kilometre. P walks
5 km an hour, Q walks 4 km an hour, R walks 7 km an hour and S walks 11 km an
hour. How long will it take all four to meet again at the starting point ?

A) 3 hours B) 2 hours C) 1 hour D) 4 hours

2
The value of (—343)3 is
A) 49

1
® %9 49

How many balls of radius 2 cm can be made from a solid sphere of lead of radius
10cm ?

A) 25 B) 50 C) 100 D) 125

C) — 49 D)

If seven times the seventh term of an AP is equal to 11 times its eleventh term, then
the 18" term of the AP will be

A) 1 B) O C) 2 D) -1
-2,
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Find the odd one among the following.

A) French Open B) US Open C) Wimbledon D) Davis Cup
Problem : Hypothesis : : : Prognosis. Fill in the blank using any one of the
options.

A) Condition B) Treatment C) Experiment D) Analysis

If RIDE is coded as 36 and DESK is coded as 39, then what will be the code for
RISK ?

A) 60 B) 57 C) 58 D) 56

Find the wrong number in the following series.
3, 10, 31, 90, 283.

A) 10 B) 31 C) 90 D) 283
At what time between 4 and 5 will the hands of a clock be at right angles ?
A) 38% minutes past 4 B) 3812_1 minutes past 4

C) 38% minutes past 4 D) 38% minutes past 4

The calender for the year 2025 will be the same for the year
A) 2031 B) 2030 C) 2036 D) 2033

Seven members are living in the family. Q is the daughter of P. B is the brother of R.
G is the mother in law of A. B is married with A. B is the uncle of Q. D is the father
of B. What is the relation of B with respect to P ?

A) Brother B) Sister in law
C) Brother in law D) Mother

Raju and Radha start from same location. Raju trace 5 km east and then 6 km
north-east. Radha trace 4 km south and then 4 km south-east. What is the shortest
distance (in km) between Raju and Radha ?

A) 10.80 B) 12.80 C) 13.45 D) 16.28

Six people are sitting in a row. Y is sitting between X and R. X is sitting next to Z.
Z is sitting next to P, who is sitting on the extreme left and Q is sitting next to R. Who
are sitting adjacent to X ?

A) Zand Y B) Pand X C) Yand R D) QandY

Four friends were sharing a plumcake. They decided that the oldest friend will get an
extra piece of cake. Ram is two months older than Raj, who in turn is three months
younger than Jay. Sam is one month older than Raj. Who should get the extra piece
of cake ?

A) Ram B) Raj C) Jay D) Sam
-24-
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71. Choose the correct question tag.

Something happened at the college,

A) don'tit? B) hadn'tit ?

C) didn'tit? D) isn’tit ?

72. Putin the correct preposition.

The programme starts 8:15 am.
A) at B) in
C) on D) over

73. Choose the correct alternative from those given as options.

The Principal to speak to you.
A) wants B) wanting
C) is wanting D) was wanting

74. Turn the given sentence from active voice to passive voice. Specify which of the

following answer is right ?

Mary opened the door.

A) Mary was opened the door.

B) The door was opened by Mary.
C) Opened the door by Mary.

D) Mary has opened the door.

75. ldentify the best way to express the intended idea in the following.
A) | like her childish face.
B) | like her child like face.
C) | like her face like child.
D) | like her face like a child.
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76. Identify the type of sentence.
What a super show !

A) Declarative sentence B) Interrogative sentence

C) Imperative sentence D) Exclamatory sentence

77. Use an appropriate article.

He didn’t get job he applied for.

A) an B) a

C) the D) none of the above
78. Michelle is than Natasha.

A) old B) more old

C) elder D) older
79. |look forward from you.

A) for hearing B) for hear

C) to hearing D) by hearing

80. Report the sentence.
Joshua said to mom, “I have been here”.

A) Joshua told mom that | had been there.
B) Joshua told mom that he has been there.
C) Joshua told mom that he had been here.

D) Joshua told mom that he had been there.

81. Complete the given sentence using a suitable phrasal verb.
| arranged to meet Tony in the mall yesterday, but he didn’t
A) fall off B) turn up

C) move in D) clear up

82. Find the synonym of the word, ‘amicable’.
A) cruel B) large
C) friendly D) simple
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83.

84.

85.

86.

87.

88.

89.

90.

Which of the following word is opposite to the word cautious ?
A) reckless B) careful

C) slim D) beautiful

Which of the following is correctly spelt ?
A) catastrophy B) catastrophi
C) catastrophe D) catestrophy

Find one word for a person who has no money.
A) stale B) agile
C) passerby D) pauper

What is the meaning of the idiomatic expression, “round the corner” ?
A) very near B) difficult

C) spontaneous D) clear

Choose the compound word from the words given below.
A) table B) hallway

C) ceiling D) computer

What is the female tiger called ?

A) tigress B) ewe

C) calf D) tiger cub

A prefix is letters that come at the of a word.
A) ending B) middle

C) beginning D) top
Prepare the of your research work.

A) Synopsis B) Synopsees
C) Synopses D) Synopse

-28-



71/24 - K

91. ‘moant QTT, oD 5’ B3 T &5
A) To0 23030R WATLO TN WVT AT, 90T AITTRAD
B) &b, 1o Fticdne RTY [N, BRED
C) 00T Beams @, DwOF BB
D) O3, evT3E 3esonm), tvT T T GO

92. 83 3YNT TTNY MOOLTE,_ MOOLTE ACTT T3 CINTT 2
FOTON
TRCTOW
TOTTO
5&2@
A) 3omoOn B) Zweoowd C) 0Tomd D) 35

93. ‘Gogev’ Q003
A) Z0J0 &ogen B) 5@& DR woN
C) RoF0d Bo2az08 e AT0E BOIT D) &3 @moogen

94. 33 @@éﬂso@ﬁ@@ﬁmﬁdw CRANYYT o, 03RRI ?
A) & BOTIBNTTEY, DFTHOTF T, LIDOLINTO AROWED
B) mo00emT e398T Ll 39T Qw9 HF TOCE 080, ¥V eeF THWO
C) BIT0 LOTN FTLOMRTRO AT BRBOIT
D) e0TsS30 3¢S R0 FRACTON L ATIT

95. Hands down <03
A) ZOOWN B) 33vn C) gRmeewd D) 3wouwd

96. ‘BTN’ VBT BRRTFFE TS
A) ST TRE B) ¢33 C) 3B IH D) O

97. 930’ 20wT
A) QTR J© B) @gom)cd C) 2T WO D) Q0@ o

98. ‘evyad’ Q0TT
A) emgdﬁé 0D B) «v@@ &0 C) %@ﬁ% 20D D) ﬁaeeéﬁ 0D

99. 35 JINTRIVE, 57T 3Y QT BT AR ?
A) e B) omess C) oo D) QFews

o

100. ‘338esh SRes’ Q0TT
A) 0RO &ees B) wowe) deez  C) SiIaty Snes D) mhmoe) ez

A -29-



71/24 - K

Space for Rough Work
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